The cheetah is the
Answer:

B2

land animal.

The elephant is a
Answer:

mammal.

A bearis a
Answer:

predator.

The tiger has
Answer:

stripes.

The giraffe has a
Answer:

neck.

The kangaroo has
Answer:

legs.

The monkey is a
Answer:

animal.

The owl is a
Answer:

bird.

The dolphin is a
Answer:

creature.

The lion has a
Answer:

roar.




The cheetah is the
Answer: fastest

The elephant is a
Answer: large

A bearis a
Answer: powerful

The tiger has
Answer: distinctive

The giraffe has a
Answer: long

The kangaroo has
Answer: strong

The monkey is a
Answer: playful

The owl is a
Answer: nocturnal

The dolphin is a
Answer: intelligent

The lion has a
Answer: mighty

Answers

land animal.

mammal.

predator.

stripes.

neck.

legs.

animal.

bird.

creature.

roar.



